DETALJINA RIESENJA ZADATAKA IZ UDZBENIKA MATEMATIKA 3 ZA

Zadatak 6. 1) sinx+cosx+sn2x > 1;

. . 1
2) cosx — SinX+ SinXCcosx > 5;

3) x-sinx+1> x4 sinx;
4) ctg®x + ctg?x — ctgx — 1 < 0.
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2(cosx — sinx) + 2sinxcosx — 1> 0
2(cosx — SiNX) + 2siNXcosx — siN“X — cos”x > 0
2(cosx — sinx) — (cosx — sinx)? > 0
(cosx — sinx)(2 — cosx + sinx) > 0
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A ZADATAKA IZ UDZBENIKA MATEMATIKA 3 ZA 3. RAZRED GIMNAZIJE

3)
X-8nx+1> x4+ sinx
X-9nX—X+1—snx>0
X(sinx—1) — (snx—1) >0
(sinx—1)(x—1) >0
<0
Moravrijediti

x—1<0, x<1 i snx#1, x;é7—2[—2k7r, k=1,23...
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4)
ctg®x + ctg?x —ctgx — 1 < 0
otg® x(ctgx + 1) — (ctgx+1) < 0
(ctgx + 1)(ctg?x — 1) < 0
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